Elektrotechnik

Resultate (ohne Lésungsweg)

Resultate Ubungen Band 1

R1

Ubungen 1.10a

Ubungen 1.10b

Ubungen 1.12a

Ubungen 1.12b

1. a) 300000 km/s 1. 24 kWh =24'000 Wh 1. 0,901=90,1% 1. a)750 W
b) 299’790 km/s 2. 2789kW 2. 4'891 kWh = 4,89 MWh b) 113 kWh
2. 0,000009'01 m 3. 1,5 kWh 3. 0,958=958 % 2. 0321=321%
3. 4,68-10Q=4,68 MQ 4. 3,78kWh 4. a)0,65kW=650 W 3. a)4,762kW
287 - 106A = 287 A 5. 20 h b) 0,86 = 86 % b) 762 W
12,4 - 100W = 12,4 GW 6. a)40h 5 540W 4, a)34h
4. a) 30 b) 16,7 h 6. Pu=20kW b) 1,35 kWh
b) 7,21 7. 3kW n=0,925=925% c) 29,6 Rp.
c) 37,8 8. 1'289.40 Fr. 7. 0,536=53,6% 5. 7h31min
d) 9,83 9. 1.08 Fr. 8. 0,288=28,8% 6. 816 kWh
e) 234 10. 23 Rp./kWh 9. 0,769=76,9% 7. 1,06 MW
f) 1'340°000 1. a)210 Wh=0,21 kWh 10. a)4,57 MW 8. 210d
g) 0,333 b) 75,6 Rp. b) 73,2 kW 9. 4'910kwW
h) 4'810'000 12.  34.70Fr. 1. 6.29Fr. 10. a)5,16 kW
i) 100000 13.  AW=18kWh 12. 44.40Fr. b) 0,862
j) 178000 P=3kW 13. 19.25Fr. c) 0,742
14.  14.75Fr. 14. a)0,57=57% 11. 0,852=852%
15. 247 Fr.=2.15Fr. b) 0,851 = 85,1 %
16. W =518,4 kWh 15, Papg = 7,37 kW
K=62.20 Fr. nm=0,813=81,3%
17. 26.90 Fr. Newt= 0,658 = 65,8 %
18.  12kW
19. 29,2 kW
20. 25(Tage)
Ubungen 2.9a Ubungen 2.10a Ubungen 2.11a Ubungen 2.12a
1. 6 A/mm? 1. 0,4S=100mS 1. 4A 1. 2kW
2. 25mm2 2. 80Q 2. 175Q 2. 682A
3. 63A 3. 2138 3. 160V 3. 35V
4. A=100 mm? 4, 4'000Q=4kQ 4. 40mA 4, a)1'500 W=1,5kW
[=300A 5. 17,9mQ 5. 60kQ b) 6,52 A
5. a)4,909 mm? 6. a)20,7mS 6. 1,44KA 5. 441Q
b) 10,8 A b) 3,13 S 7. 16V 6. 469V
6. a)16 mm? 7. 400nS 8. a)333kQ 7. 216mW
b) 4,51 mm 8. 238kQ b) 30 S 8. a)124Vv
7. a)357 Almm2 9. 40kQ 9. 833kQ b) 7,69 mW
b) 306 A/mm? 10. 455nS 10. 825pV 9. a)126mA
8. 2,06 Amm? 11. 30,3nS 1. 1,53A b) 15,8 V
12. 20,4 kQ 12. 8kQ 10. a)210W
13. 12kV b) Brandgefahr
14. U=230V 1. 1,19kW
R2=400Q 12. 245V
Ubungen 2.14a
1. 480A 9. 774mQ 17. U=100V 24. 12mA
2. 13,4 Amm? 10. 1,03V =10 mA 25. 1=44kQ
3. a)10mm2 11. 5,68A 18. P=389mW G=2278
b) 82 A 12. 10,2A Uu=324V 26. 230V
4, 32,9 mm2 13. 123 mV 19. 130 W 27. J=25mm?
5. 3338 14. 448 MW 20. 893 W A =564 mm
6. 1,36Q 15. 217A 21. 220V
7. 189mS 16. a)435mA 22. 532W
8.  758mQ b) 529 Q 23. 2,56 kW
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Elektrotechnik

Resultate (Fortsetzung)

Resultate Ubungen Band 1

R2

Ubungen 3.2a Ubungen 3.2b Ubungen 3.5a Ubungen 3.6a
1. 46,5kQ 1. 5,79MQ 1. 242Q 1. a)20Q
2. 976Q 2. 475Q 2. 66kQ b) 18,8 Q
3. 300kQ 3. 314Q 3. 6,8kQ 2. a)145Q
4. R1=3kQ 4. 1,05MQ 4. 120Q b) 194 Q
R2=27 kQ 5. Rv=25Q 5 400Q 3. a)100Q
R=30kQ Pv=1600 W 6. 405Q b) 40 Q
5. R=09Q 6. 823mwW 7. 20Q 4. a)500Q
R3=0,28 Q 7. 50W 8. 150Q b) 455 Q
6. 689V 8. T752W 9. 12 5. 583Q
7. Ui=44V 9. 173Q 10. 5,84 kQ
Us=216V 11. 790 Q
U=364V 12, 81,1kQ
8. a) Ri=881,7Q 13. 954 Q
R2=529 Q
b) 163 mA
¢) Ui=144V
U.=86,3V
d) Pr=234W
Po=141W
e) 60 W Lampe
9. R1=95kQ
R2=665 kQ
Ubungen 3.8a Ubungen 3.9a Ubungen 3.14a
1. R1=40Q 6. a) 102Q 1. 173V 1. 1,5kW
R2=26,7Q b) 1=03A . 36,3V 2. 1mind0s
2. a)46Q l2=0,45A 3. a2V 3. 375 1/kWh
b) 130 V 1=0,75A b) 17,4V 4. 90
c) 100V c) U2=9V 4, 6V 5. 533s
d =167A Us=30V 5 10% 6. 1,74A
3=3,33A Us=375V 7. 2,83kW
3. Fig.-1)32,1Q d) 76,5V 8. 8.64Fr
Fig. 2) 32,1 Q 7. a) 154Q 9. 1,76 kW
4. U=25V b) U=36V
Ui=10V Ui=216V
=15V U2=144V
5. U=100V c) 2,34A
Ui=22,3V d) h=1=0,72A
U2=334V I3=0,9A
Us=446V l4=0,72 A
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Elektrotechnik

Resultate (Fortsetzung)

Resultate Ubungen Band 1

R3

Ubungen 4.3a Ubungen 4.5a Ubungen 4.6a
1. a)0,03V 1. 117Q 1. AU=T7V
b) 1,47V 2. 60m AU’ = 3,04 %
2. 525V 3. 1mm2 2. a)42Q
3. 291Q 4. 4,33kQ b) 12,6 V
4. a)15V 5. 0,421 Qmm2/m 3. g =0514m
b) 533 mQ — Nickelin fg2=1,03m
5. 118Q 6. 331mQ fg3=9,86 m
6. Ri=50mQ 7. a)84,25Q fga=28,3m
Ik =240 A b) 0,132 mm? 4. 392 mm?2
Uu=1,:5V ¢) 10,1 m 5 657A
7. 186Q 8. a)0,3318 mm2 6. 7,91 mm2— 10 mm2
8. 2A b) 307,9 m 7. 20,5m
6A ) 16,2Q 8  1,83mm2— 2,5 mm?
9. AU=1253V
Ue=4275V
10. 156 mm?
1. 1=929A
Ulast =214V
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